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1. Using four rectangles and midpoints, the area under the graph of  xxxf 2)( 2 +=  from  

8    to0 == xx  is approximately equal 
 
 
(a)  116 

(b)  232 

(c)  102 

(d)  223 

(e)  320 
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3.   ∫
4

0

π

=
+ θ

θ
θ d 

cos
sin1

2  

 
(a)   22  

 

 

(b)  12 −  

 

(c)    2  

 

 

(d)  12 +  

 

 

 (e)  2
2
1  

 
 
 
 
 

4. ( ) =
⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
∫
2

2  cos 
x

dtt
dx
d  

 
 

(a)     
x
xcos  

 
 
(b)   xcos4cos −  
 
 
(c)   xsin4sin −  
 
 

(d)   
x
x

2
sin

4
4sin
−  

 
 

(e)   
x
x

2
cos
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5. ∫
−

0

5
( ) =−− dxxx   2542 2  

 
 
(a)     π25  

(b)   )1(25 π+−  

(c)  ⎟
⎠
⎞

⎜
⎝
⎛ +−

4
125 π  

(d)  )1(25 π−  

(e)  
4

25 π
−  

 
 
6. The area of the region bounded by the curves  42 =− xy   and  22 =+ xy   is equal to 

 
 
(a)   4  
 
 
 
(b)  6  
 
 
 
 
(c)  34  
 
 
 
 
 (d)  38  
 
 
 
 
(e)  3  
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7. ∑
=

=⎟
⎠
⎞

⎜
⎝
⎛ −

n

i n
i

1

45  

 
 
(a)     nn 32 2 +  
 
 
 
(b)  n23−  

 
 

 
(c)   223 nn −  
 
 
 
(d)   142 2 ++ nn  
 
 
 
(e)  23 −n  
 
 
 

8.  =⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
++++

+∞→
3333 ...3211lim

n
n

nnnnn
 

[Hint:  First express the limit as a definite integral] 
 

(a)  
4
3  

 
 
 
(b)  0  
 
 
 
(c)  3 4  
 
 
 
(d)  1 
 
 
 

(e)  
2
3  
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9. Which one of the following statements is FALSE: (f  is continuous on ]),[ ba  

(a) ∫ ≤≤
b

a

dxxfbaxf .0)(  then  ],,[on    0)(  If  

 
 

(b) ∫
b

a
∫=
b

a

dxxfdxxf .)(4)( 4  

 
 

(c) If  ∫
b

a

 .7)(  then ,7)( ∫ ==
b

a

dttfdxxf  

 
 

(d) If ∫
b

a

] ,[in      allfor   0)(  then   ,0)( baxxfdxxf ==  

 
 
 

(e)  ∫
b

a
∫ =+
a

b

dxxfdxxf .0)()(  

 

 

10.  The area of the region between the curves  
2
1  and  sin == yxy   from  

2
    to0 π

== xx    is 

equal to 
 
 

(a)   2
12

2 +−
π  

 
 

(b)  1
12

3 −+
π   

 
  

(c)  1
12

3 −−
π  

 
 

(d)  2
6

3 −−
π  

 
 

(e)  1
2

2 +−
π  
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11.   ∫
4

1
 ( )

=dx
x

ece xx

 os  

 

(a)    ecos4  

 

(b)  ( )2coscos2 ee −  

 

(c)  ( )ee sinsin2 2 −  

 

(d)  ( )2coscos
2
1 ee −  

 

(e)  esin4  

 

 

 

12. The volume of the solid obtained by rotating the region bounded by the curves  ,1  ,3 == yxy  

and  0=x  about the y-axis is equal to 

 

(a)    
7

3π  

 

(b)  
5
π  

 

(c)  
4

3π  

 

(d)  
3

2π  

 

(e)  
5

3π  
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13.  A particle moves along a line so that its velocity at time  t   is  ttv sin)( =  (measured in meters 

per second). The distance traveled by the particle during the time period  
2

30 π
≤≤ t   is equal to 

 
(a)  meters  3  
 
 
(b)  meters  2  
 
 
(c)  meters  1  
 
 

(d)  meters  
2
3  

 
 

(e)  meters  
2
1  

 
 
 

14.  If  ∫ =+ −
x

t xdttfe
3

5 )( 15   for all  x , then  =+ )0(')0( ff  

 
 

(a)  e15  
 
 
 
 
(b)  e5  
 
 
 
 
(c)  3  
 
 
 
 
(d)  10  
 
 
 
 
(e)  5  
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15. If  f   is continuous on  ]1 ,0[   and  ∫ =
1

0

,2 )( dxxf  then  ∫ =−
1

0

 )1( dxxf  

 
(a)  2−  
 
 
 
(b)  1 
 
 
 
(c)  0  
 
 
 
(d) 1−  
 
 
 
(e)  2  

 
 
 
16. The volume of the solid generated by revolving the region bounded by the parabolas  2xy =   

and  xy 82 =  about the line  1−=y   is given by 
 
 

(a)   π  ∫
2

0
( ) dxxx   8 4−  

 

(b)  π ∫
2

0
( ) ( ) dxxx   118 222

⎥⎦
⎤

⎢⎣
⎡ +−+  

 
 

(c)   π  ∫
16

0
( ) dyyy  1 

8
11

2
22

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
⎟
⎠
⎞

⎜
⎝
⎛ +−+  

 
 

(d)  π  ∫
16

0
( ) dyyy  1 

8
11

2
22

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
⎟
⎠
⎞

⎜
⎝
⎛ −−−     

 

(e)  π   ∫
2

0
( ) dxxx  8

22−  
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17. ∫
e

1
=

+
dx

xxx
 

ln 
1  

 
 

(a)   2ln  
 
 
(b)   )1ln( e+  
 
 

(c)  
2
e  

 
 
(d)  e+2  
 
 
(e)   e  

 
 
 
 
 

18.   ∫     
sectan2

sec2
=

+
+ dx

xxx
x  

 
 
 

(a)  Cxxx +++
2
1  sin 3  cos 

2
2 2  

 
 
(b)  Cxx  x ++ sectan 2ln  
 
 

(c)    
tansec

sec C
xx

x
+

+
 

 
 
 
(d)  Cx x ++ ||lnsinln  
 
 
 
(e)  Cx x  ++sin2ln  
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19.  ∫
−

π

π

( ) =dxxx 25 cos  

 

(a)   ( )2cos  
4
1 π  

 
 
 
(b)  ( )2sin  32 π  
 
 
 
(c)  0  
 
 
 
(d)  6π  
 
 

 
(e)  ( )22 sin  4 ππ  
 
 
 

20. A solid has a base lying in the first quadrant and is bounded by the curves 

.0  and  ,0  ,
4
11 2 ==−= yxxy   If the cross sections of the solid perpendicular to the x-axis are 

squares, then the volume of the solid is equal to  
 

(a)   
15
16  

 
 

(b)  
15
8  

 
 

(c)  
15
14  

 
 

(d)  
15
11  

 
 

(e)  
15
17  
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ANSWER KEY 
 
 
 

Question Code 1 Code 2 Code 3 Code 4 
1 b c e b 
2 a d b a 
3 c b a c 
4 e e e a 
5 b a d e 
6 d a c d 
7 e b c d 
8 a c a e 
9 d e b d 
10 c d e a 
11 c c d b 
12 e b c b 
13 a e a c 
14 d a e e 
15 e c b a 
16 b a d b 
17 a e a d 
18 e d e c 
19 c a c b 
20 a b b e 

 


